Ways to add: Word problems

5 kaihoe are in the waka. Some more
kaihoe get in.

Now there are 9 kaihoe.
How many kaihoe get in?
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4 kaihoe are in the waka. Some more
kaihoe get in.

Now there are 7 kaihoe.

How many kaihoe get in?

5 kaihoe are in the waka. Some more
kaihoe get in.

Now there are 8 kaihoe.
How many kaihoe get in?

2 kaihoe are in the waka. Some more
kaihoe get in.

Now there are 6 kaihoe.

How many kaihoe get in?

7 kaihoe are in the waka. Some more
kaihoe get in.

Now there are 10 kaihoe.

How many kaihoe get in?
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